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‘I . Should colleges start in foll?‘

Step|. Warm Up! - Listening Practice - Dictation Practice (#ff¥)

Step2. [#] Yamato's Argument — Reading Practice (A®F) Check “A-R-E-A"

Step3. Vocabulary Check and Hunt! (#A] (RIft/—h+&X)
# Find the words or phrases in the text! [EXAMPLE] resulting in good (1 word) - (beneficial)

(1) to go more slowly or to become less successful than other people (2) - ( )M )
(@ different from one another (1) - (v )
(3 good or useful in a particular situation (1) - ( )

Step4. [#E] Slash Reading (Write Slash “/” by yourself, or with your partner.)

(D Japanese college classes usually start in spring, but in many other countries, colleges start in fall. // This has
led some people to believe that Japanese colleges should also start in fall. // While some people think that this is not
necessary, | think it would be beneficial for the following reasons. //

@ To begin with, if colleges start in fall, Japanese high school students can study abroad more casily. // They
graduate in March and then attend college from April. // On the other hand, in most Westem countries, classes start in
September or October. // This waiting time of half a year may discourage them from studying abroad because it means
they will fall behind their friends who attend Japanese colleges. // However, if Japanese colleges start in fall, they will
be on the same schedule as the rest of the world, and the time gap will no longer be an issue. // Students can gain
various expericnces and expand their network in a different country, which is beneficial when they come back and
join Japanese businesses or startups. //

@ In addition, if Japanese colleges start in fall, more forcign students will also be able to study in Japan. / As a
result, it will create more diverse classrooms, which is advantageous for the small island country. // Japanese young
people will understand that other people think and act differently, and these findings will help them think outside the
box and explore new opportunities. //

@ Therefore, starting classes in fall will be beneficial for young people. // The initiative will enhance their ability
and help Japan become more global. // (258 words)

Step5. Writing Speaking | (3I#&/—F)

Yamato that colleges should start in fall. To begin with,

In addition,

Step6. Column — Listening Practice — Dictation Practice (A F)

Step7. [R#*] Maki's Argument - Reading Practice (&) Check "A-R-E-A"!

Step8. Vocabulary Check and Hunt! [R#f] (31 /— r+AX)

+# Find the words or phrases in the text!

(@ to change hing good into ing bad or unpl m-( )
(@ to stop trying to do something (2+doing) - ) ) doing
(@ uncertainty about what is happening, intended, or required (1) - ( )

Step9. [R#$] Slash Reading (Write Slash */" by yourself, or with your partner.)
(@ In Japan, classes in college usually start in April. // However, the government is proposing that collcges start

in fall. // While this may be good for international students seeking to study at Japanese universitics, | disagree with
starting university classes in fall for the following reasons. //

@ To begin with, the change will spoil students. // It will create a six-month gap from graduation of high school
in March to college admission in fall. // Although some students could make good usc of that period by doing volunteer
work or taking a language course abroad, many others will end up wasting it. // For example, they may play around
and do nothing productive, or take up a part-time job that is not related to their studies or a better future. // By the time
the six months pass, they will be less motivated to study and some may cven give up going to college. //

@ In addition, this change will create overall confusion. // The practice of spring admissions has long been
established in Japan, so changing this will bring a lot of trouble and costs not only to schools but also to companics. //
For example, if the graduation of college students is changed from March to August, the timing of employment must
also be changed. // This will force companics to make changes in various systems. // It is not realistic to change the
existing academic calendar without causing major issucs and confusions. //

@ Therefore, I disagree with college classcs starting in fall. // The government nceds to understand that students
will only be spoiled by the six-month gap and society will be confused. // (263 words)

Step | 0. Writing Speaking | (%I /— )

EELRE—

Maki that colleges should start in fall. To begin with,

In addition,
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Step6. Column - Listening Practice - Dictation Practice (&t )
Step7. [R#f] Moaki's Argument - Reading Practice (% %) Check *A-R-E-A"

Step8. Vocabulary Check and Hunt! [R#t] (8If/—h+&X)
# Find the words or phrases in the text!

(1) to change hing good into hing bad or unpl m-( )
(2) to stop trying to do something (2+doing) - ( ) ) doing
(3) uncertainty about what is happening, intended, or required (1) - ( )

Step9. [R#t) Slash Reading (Write Slash */" by yourself, or with your partner.)
(@ In Japan, classes in college usually start in April. // However, the government is proposing that colleges start

in fall. // While this may be good for international students seeking to study at Japanese universities, I disagree with
starting university classes in fall for the following reasons. //

@ To begin with, the change will spoil students. / It will create a six-month gap from graduation of high school
in March to college admission in fall. / Although some students could make good use of that period by doing volunteer
work or taking a language course abroad, many others will end up wasting it. // For example, they may play around
and do nothing productive, or take up a part-time job that is not related to their studics or a better future. // By the time
the six months pass, they will be less motivated to study and some may cven give up going to college. //

@ In addition, this change will create overall confusion. // The practice of spring admissions has long been
established in Japan, so changing this will bring a lot of trouble and costs not only to schools but also to companies. //
For example, if the graduation of college students is changed from March to August, the timing of employment must
also be changed. // This will force companies to make changes in various systems. / It is not realistic to change the
existing academic calendar without causing major issucs and confusions. //

@ Therefore, I disagree with college classes starting in fall. // The government needs to understand that students
will only be spoiled by the six-month gap and society will be confused. // (263 words)

Step | 0. Writing Speaking | (3/f#/—})

Maki that colleges should start in fall. To begin with,

In addition,
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Reading Practice
F1. Yamatod B &4 K~ M 3L A T E Bl % BAHIRUE L LS (ERHH
BI2BE80HYET) .
I SNBREY D FICLY BARDFZEILBIDOALE BN TES,
2. RENFOANANRICE I ZEBRBIECEBI+2ITES,
3. BB FILY BN DRI TS F v XA S,

2. YomatoD EROBPUIK L TR RIS RIGE @ HBRMERUVEL L) (ERH
BRIRBBELHYVET).

|. KEANZIL BADINITORMCHEISEES LW HEBATH S,
2. KENZILY GBI D EANMRTEIANEATERERNODENSAFREIRS,
INZEHAMIDEETHERDARE LB ITTVWSBIDBEZEL VS,

FA4RA—RAT—H— [v
BYRTFARA—-R2—H—%RITH XHIKIELNXFETRLTH S,

I.Idon’t want to go. ( d. To begin with ), it’s too cold. Also, it
started to rain.

2.1don’t like this apartment. ( b. Therefore ), I'm moving out next
month.

3. The white cat is very pretty. ( e.Inaddition ), she is friendly.

a. second b. therefore c. unfortunately
d. to begin with e. in addition

Vocabulary Hunt

% Find the words or phrases in the text!

[EXAMPLE] resulting in good (| word) — (beneficial)

(D to go more slowly or to become less successful than other people (2)
-( fall ) ( behind )
@ different from one another (1) — (various )

® good or useful in a particular situation (1) - (advantageous )
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@ To begin wifh%f colleges start in fa
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MR | Yamato's argument '

Reading Practice
Yamalotf XFOREAR LSV TEBRERSTUET. EREMAT HUTOMOEELLLLS,

Japanese college chisses wsmlly sart in sprmg, bt mmany other coumtnies, colleges
startin fall Thos bas lod soeme people 10 beliove that Japancse oo lleges should also start
m fall. Whike some people thimk that this is not mecessary, | édmk 2 would be baneficml
for the followmg measons.

To begm with, ifcolleges start i fall, Japancse bigh school studans can stady sbwad
more aasily They gradute m March and then stend college fiom April. On the other
band, = most Westem coumtaes, ¢hisses 8t m Septamber or October This wasting tme
of halfa year may discourage them from stadying dbmad because # means they will fall
behmd Ber fnonds who sumd Jpanese collges. However if apancse colleges st m
fall, they will be on the same schedale as the rest of the workd, and he tme gap will no
longer bean ssoe Stadents can gam vasows expariences and expand ther netwok ma
different coumary, which 5 benefica] when ey come back and join Japancse businesses
or satups.

In addinon, if Japanese colleges sttt m fall, more fora gn stadents will also be ablke
%o stady m Japan. As a resukt, ® will create more diverse chissooms, which s
advantageons for the sl sland coumtry. Japamese youmg people will und arstand @t
other people think and ac differendly, and these finding s will help them think owside the

box and explore new opportunities.
Therefore, saming dasses o fall will be bencficil for young people The intative
will enbance thew ility and help Japan become mome global (258 words )
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-Using the Topic from Logical English Reading-
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OR7EMMATEI HERBHLT, |ADANFNERETIMRENIZT,
QW IBD 15, - M —LELTRZOMBRAORMERVTLLVET,
DETELTLLV ZORBIHLTRVETAELRIZT, (SINE, reconstruction E\VET)
@/~ b+ —12% 0 reconstruction £ BT, Evaluation DMICEERALET,

D% 1", 27Ea3s) 37TV, O3RMTHMBLET, 2/, 2APERHIZT, (TINLRE)

O Motion: (CCCRMERLET) ... I
Argument Refutation Reconstruction Evaluation
tomBenety O Argument
Reotes | 2§ 3
14, feERnttec [12 ]
LT, KSR | 2 Recon:
Futtsurde [ Futharkise ° wtruction
HLT . BAnkRE [123)
ATRALTCET V. O Comment:

azvirefotd
Hulde

[example] & Motion:

Doraemon should go back to the 22" century forever.

no one is safe
angmorc.

help us.

Argument Refutation Reconstruction Evaluation
This is because his | This argument is | We are not sure if | O Argument
tools are so not important | Dorami-chan can [1 z@ ]
dangerous. For | because if always come to | ) Reconstruction
instance, if anything serious | help us. We must [ 1 @ 3]
Pokod door | happ o : defend by O Comment:
is stolen by a Dorami-chan is oursclfvas. The b¢.5t B35 aREUNE
tervorist group, | sure to come to | way is to send him | (s gy dnis 7

back to where he
is from.

A

Motion [$#] For violent crimes, the names of offenders should be disclosed, regardless of oge.
ABEROVTFRMOLT ERRORE EABTRITHS,

Argument

Refutation

Reconstruction

Evaluation

O Argument
[1.2.3)

O Reconstruction
(1.2.3]

O Comment
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(D] In English class, you are writing an essay on a social issue you are interested in. This is your most

recent draft. You are now working on revisions based on comments from your teacher.

Compulsory Retirement System in Japan

Generally, the minimum age for retirement in Japan is 65. This means
workers are required to leave their jobs on their 65th birthday. However, as
the population is decreasing and aging, this mokes little sense today. I
support the idea of abolishing the compulsory retirement age for two
reasons.

First, abolishing the compulsory retirement age is in the best interest of
workers. (IN’hoy feel their contribution to the company is vital for their
life. Additionally, elderly workers are now more active than ever before
thanks to advances in medicine. We must let go of ageism, a form of
prejudice that elderly workers cannot work like young workers as this can
lead to unfair treatment based on their age. Many of them are skilled and
highly motivated, and if they are allowed to keep working, they will feel
fulfilled and joyful.

Second, abolishing the compulsory retirement age would be beneficial to
companies. Keeping elderly workers employed means @they can hire more
younger workers. They have a great deal of experience, and for companies
to develop further, it is important to pass on their knowledge and skills to
future generations. This process can take a long time, ®Aifoldcrly workers
are forced to leave at 65, younger workers may not be able to learn fully
from them.

Allin all, I believe that the compulsory retirement age should @go on as
now. It would be beneficial to both elderly workers and to the younger

generation of workers.

Comments

@ You are missing
something here. Add
more information
between the two
sentences to connect
them.

@ This part doesn't
really match here.
Rewrite it

@ Insert a connecting
expression here,

@ The underlined
phrase doesn't
summarize your essay
content. Change it.

Overall Comment:

I am impressed with your writing skills© You are improving all the time, keep it up.
(Actually, I am also worried about my retirement age. I have to think about it sooner or later..)

(1) Based on comment (D, which is the best sentence to odd?
A. For example, if a company starts a long-term project that involves senior workers, it may be
difficult for them to quit before the project is completed.

For example, younger workers might have less chance of promotion as long as elderly people

stay in management positions.

C. For example, some elderly people value their work and believe that they can make o real
difference in the world.

D. For example, if elderly workers keep working, companies will not need additional working power

atall.

(2) Based on comment @, which is the most appropriate way to rewrite this port of the sentence?
A. they can earn more money from the market.
B. they can guide and support younger workers.
C. they con leave their jobs more easily.
D. they can have more chance of promotion.

(3) Based on comment @, which is the best expression to add?

A. so B. but C. even D. what

(4) Based on comment @, which is the best replacement?
A. be introduced
B. be outdated
C. be continued

D. be abolished

(5) Which of the following would the writer of the essay most likely agree with?
A. The compulsory retirement age should be maintained to ensure that younger workers have
opportunities to advance.

B. The compulsory retirement age should be r d as it is advantag for both senior workers
and the younger workforce.

C. Elderly workers should only continue working if they demonstrate physical fitness comparable
to younger employees.

D. Companies should focus on hiring younger workers i d of k

ping older employ to have

a more energetic team.
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